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a. 1% "Greenhouse effect | ? (6 %)
b. AfT# R (Heat Pump) & EAERAARME 2 (75
c. #f3%(Conduction) & # %4 (Radition) (6 4)
d. H## 7 % (Thermodynamics) # #.18 % (Heat Transfer)® £ £ ? (6 4)

A= (AEAH 25 9)

—REZ R KB FES MM (Piston Displacement) % 0. 05m’ » #hig &
500rpm > & E & M (percent clearance) & 5% > A4 th B ez - (4% T3
BRORERE (Fp'” =CH AP ChAYE) BEBE B (PP 43
% 100 & 600kPa » XKL BREBMATEZ Rk wET) o

WA= (20 4)
MEBREERASPRAAHEAGP-h B (o) RYF AL Z@BEHER COP -
EF BB R G HMA W E=1kg/s B P

h1=31. 42kJ/kg h2=169. 45kJ/kg

h3=192. 98kJ/kg h4=185. 243kJ/kg .

h5=208. 236kJ/kg h6=74. 527kJ/kg /7,5
7 4
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WAw (10 %)

HYARBREETAASRAERRE  HRE

(1)4738 CFC A4 7 1738 HCFC 48 7 4738 HFC 44& ?

(2) AL A R AG % A A 440 R11 > R12 > R22 7 R502 & R717 4B Ll fT#4 4 ? £ K4
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R22:4 & % 2 Ak Ko B B3kt B ¢ A AE /71Qe=T5USRT (1 USRT= 3024kcal/hr) -
KRB EEINC AREELC  (B/ARLLIT)  AFAADBEREIRT  ZRIKAZTS
920(liter/min) B 42 #1844 80 = 830 kcal / of -"C-hr » RK (DB EHK ) » (2)
P& E 42 50mn&k E2ndA B B -
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